NGQ Air Cushion Series

® Exclusive grease use, dust generation
is minimized during operation

® High precision and rotation prevention

@ Applications of various Auto switches

@ Side port mounted by default

® Expanded the adjustable cushion range

® Minimized cushion bouncing with an
ideal air passage design

Symbol

2

=

7 I

Guide compact cylinder air cushion type / Bore size :@20, @32, @40, @50, @63

Actuator
Cylinder

NGQAir cushion Series

T B0 B0 I6 BEE

[1] NGQ=New guide compact

cylinder
[2] Bearing type
M : Slide bearing
L @ Ball bushing
[3] Bore size
Type bore size [ 20 | 25 | 32 [ 40 | 50
Strokefmm) | 20 [ 25| 32 |40 [ 50 | B3
[4] Cylinder stroke(mm)
Type Bore size Stroke(mm)
NGQM | @20, @25, @32, | 25,50,75,100,125,
NGQL | @40, @50, @63 | 150,175,200,250
[5] A : Air cushion type
Port type
Bank | Bank EUtype | US type
Re G NPT

j Attachment speciﬁcation
Blank : No side-attachment hole
H : Side-attachment hole

'8]Option
Blank : Standard (For L type with bore size
@12 ~ @40, copper—iree is the basic)
XC16 : Copper—iree (Only available for L type)

[9] Auto switch
Blank : None (Built-in magnet cylinder)
W4 : Reed switch
W2P : Magnetic field resistant switch
W8V : Micro reed switch (Vertical)
WEH : Micro reed switch (Horizontal)
WV : Micro solid state switch (Vertical)
WOH : Micro solid state switch (Horizontal)
# Refer fo page 200 for addiicnal information including
AC200V,

fo]Lead wire length
Blank : 0.5m
L:3m

[11/Number of switches
Blank : 2 pcs
S:ipc

Specifications

Fluid Pressed air
Operation Double—acting
Proof pressure 1.5MPa(15kgf/cm?)
Operating Max. operaling pressure 1.0MPa(10.2kgf/cm?)
pressure range | Min, operating pressure 0.1MPa(1.0kgf/crre)

Ambient & fluid temperature

-10°C ~ +60°C(Anti—freezing)

Lubrication Unnecessary (Non—lube)
Cushion Air cushion on both ends
Piping 2 directions (Top—ported, Side—ported)
Top mounting, Bottom mounting,
Mounting type Side mounting (optional),
T-slot mounting, Rear mounting
Micro auto switch (W8* W9*), W4
Auto switch Magnetic field resistant auto switch (W2P)
3 types avalable
Piston speed 50 ~ 500mm/s
Stroke length tolerance 5 mm




382-403-NGQ 2012.9.7 3:0 PM slo]x1384 &394 o152} $ BHMED O ‘

Series NGQ

Standard Specification

Item Specification
Fluid Compressed Air
How to Operate Double Acting
Proof Pressure 1.5 Mpa (15kgf/or)
Prescins Rirgs Max, Pressure 1.0 Mpa (9.9kgf/erf)
Applied Min. Pressure 620 ~ (3 6 0.1 Mpa (1.0kglia)
Surrounding and Used Fluid Temperature -10T ~ +60C
Lubrication Non Lubrication
Cushion Both Side Air Cushion (Basic)
Piping 2 Direction Piping (Top and Bottom)

Through Type Attachment (Top and Botiom), Side Atiachment {Optior)
T-Slot Attachment, Back Attachment
Ultra~tiny AUTO S/W (W8 = W9+ ) W4

Able fo Attach 3 Sefs of Strong Magnetic Feld-Resstant AUTO S/ (W2P)

Applied Piston Speed 50 ~ 500 mm/S

Stroke Tolerance Emm

Cylinder Attachment Type

AUTO S/W

Theory Output Table {Unit * kgf)

[T —Fwor [ =

Bore Size Digr{genter Operation Pre&;“L‘iet?Area Pressure Applied(kgf/ar)
(mm) (mn) | Direction | o 2 3 4 5 6 7 8 9 10
ouT 31 6.3 94 12.6 15.7 18.8 22 251 283 314
e 10 IN 24 47 71 9.4 1.8 14.1 16.5 18.8 212 23.6
25 1 out 4.9 9.8 147 19.6 245 29.4 34.3 39.3 44.2 491
IN 3.8 7.6 1.3 15.1 18.9 22.7 26.4 30.2 34 37.8
out 8 16.1 24.1 32.2 40.2 482 56.3 64.3 724 80.4
i+ b IN 6 12.1 18.1 241 30.1 36.2 422 482 543 60.3
ouT 12.6 25,1 377 50.2 62.8 75.4 87.9 100.5 13 125.6
4 1 IN 10.6 211 317 422 52.8 63.3 739 84.4 95 105.5
ouT 19.6 393 58.9 78.5 981 17.8 137.4 157 176.6 196.3
2 IN | 165 | 33 | 495 | 659 | 824 | 989 | 154 | 1319 | 1484 | 1649
ouT 31.2 62.3 93.5 124.6 155.8 186.9 218.1 2493 2804 311.6
& 24 IN 28 56 84.1 1121 140.1 168.1 196.1 2241 2522 280.2
Motel Theory output (kgf) = Pressure (kgf/ar) ¥ Platon water pressure area (o) Tkgt = 9.8 N, Tkgliar=0.098Mpa

384




382-403-NGQ 2012.9.7 3:0 PM slo]21385 8914 o134} $ HHIED O

Series NGQ

Weight Table (product weight) ACP
Bore T Cylinder Stroke (mm) APM
Size 10 | 20 | 25 | 30 | 40 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300
@20 — 07 — 0.8 08 09 | 12 1.4 16 | 18 20 | 22 27 3.1 AS
@ 25 — | 10 - 11 12 13 | 17 19 | 22 | 25 | 28 | 30 | 36 | 41
@ 32 — | = 17 | — - 22 | 25 | 28 | 32 | 36 | 40 | 43 | 53 | 60 |AX
M TYPE
@ 40 - | = 18 | — - 25 | 28 | 33 | 38 | 42 | 48 | 52 | 64 | 69
@ 50 — | — [t | — | — ] 38|45 | 52| 58|65 ]| 73|79 |88 | 94 |AM2
@ 63 — — a7 | — — 48 | 54 | 62 | 68 | 76 | 84 | 91 | 101 | 108
AM
@ 20 — | 07 — 08 | 09 | 09 | 11 13 | 15 | 17 19 | 21 | 25 | 28
@ 25 — | 10 - 1.1 13 13 | 16 18| 21 | 23 | 26 | 28 | 33 | 37 ﬁl:x
@ 32 = || = 15 | — = 20 | 23 | 26 | 29 | 33 | 36 | 39 | 48 | 52
L TYPE
@ 40 — — 1T — — 22 | 27 3.1 35 | 39 44 | 48 | 56 6.0 QBQ
@ 50 — - 28 | — - 35 | 42 | 48 | 54 | 60 | 87 | 73 | 78 | 102
@ 63 — | = 35 | — - 45 | 5.1 58 | 65 | 7. 78 | 85 | 92 | 98 |A
: ABEIZ
A
ABK
ACK1
NSK /L
Allowed Load k‘/
Bore Tore Cylinder Stroke (mm)
_Size 10 | 20 | 25 | 30 | 40 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300
o0l M — 52 — 44 43 38 | 67 58 51 | 45 40 | 36 28 19
L | — | 33 | — | 8 | 9 | & | 77 | 54 | 35 | 24 | 7 | 13 | 8 5 éﬁx
g2 | M — | 69 — 58 57 50 | 90 77 | 67 | 60 60 | 55 | 55 47
L — | 49 — 39 | 102 | 92 | of 7] 9] 70 52 | 40 25 17 |INP
g3 | M — — | 148 | — — 160 | 143 | 122 | 15 | 102 | 17 | 107 | 92 | 80 |
I — | - 73 — — | 160 | 144 | 123 | 145 | 129 | 116 | 89 57 39 |ADR
da0 | M — — | s | — - 162 | 145 | 124 | 116 | 103 | 19 | 109 | 93 81
I — — 73 — — | 160 | 144 | 123 | 144 | 129 | 116 | 89 | 56 38 [AMR
geo | M — — | e8| — — | 236 | 221 | 192 | 179 | 60 | 176 | 161 | 138 | 121
L — — 78 — - 215 | 194 | w67 | 192 | 172 | 198 | 64 | 107 | 73
pea | M | = | — T2 [ — |~ 285 20 | 100 | 177 [ 158 | 174 | 150 | 136 | 118 NDM
L — — 74 — — 215 | 194 | 165 | 191 | 171 | 198 | 160 | 102 | 69
ARD
NST
AST
ASTH
Thgf = B.BN, kgfior=0.086Mpa F
: NLCD
NLCS
385

www. TPCpage.com
www. TPCpneumatics.com




‘382—403-NGQ 2012.9.7 3:0 PM silo]386 =42} $ HHIED O

Series NGQ

- Cylinder Stroke (mm)

Comaliaman 10 20 25 30 40 50 75 100 125 150 175 200 250 300
@ 20 - [ - [] ] [] [] ] [] [] @ [] ] [
@ 25 - ° - [ [ [ ° [] [ ] ° . . @
@ 32 - - [ - - ° ° [ [ [ ° [ @ °
@ 40 = - @ - - [ ] ° [ [] [] (] (] @
@ 50 - - ° - - [ ° @ ] ] ° ° @ °
@ 63 = = ® = = ° ] ] ° [ ] ° ] ® L)

Netel In the case of middle stroke, able to manufacture itin 5 stroke units by meounting spacer (including '— ' mark part)

Allowed Rotation Torque (T)

Bore Cylinder Stroke (mm)
Size | ™¥P | 10 | 20 | 25 | 30 | 40 | 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300
M — (& | — | %3 | 72| di [ i3 | 96 | 4k | 38 | 1d 1 08 | 05
g20 | — Jo9 | — [ o5 | 27 | 24 22 15 1 07 | 05 | 04 | 02 | o1
M — [ 23 | — [ 19 | 18 | 17 [ 26 | 25 | 22 | 2 2 | 18 | 18 | 16
g2 | — |16 | — | 13 | 34 | 31| 3 26 | 26 | 23 | 17 | 13 | 08 | 05
M — | — 159 | — | — | 64| 57 | 49 | 46 | 41 | 47 | 43 | 37 | 32
B3z [ — | o= | @8 | = — | 64 | 58 | 49 | 58 | 52 | 47 | 36 | 23 | 15
M — [ = 165 | — | — [ 71| 63 | 54 | 51 | 45 | 52 | 47 | 4 | 35
@40 [ — | — [ 82 | = — | 69 | 63 | 53 | 63 | 56 5 | 39 | 25 | 17
_ M — | — | ®f| = | = 13 | 122 | 105 | 98 | 88 | 97 | 89 | 76 | 66
@50 | = = 43 | — — | 18107 | 92 [ 6] 95 [109] 9 59 4
M — | — | w7 | — | — | 146 | 137 | 18| 1 | 08 | 108 | 99 | 84 | 73
@63 | | — | — [ 46 | — | — | 33| 1 | 103 19 | 106 | 123 | 99 | 63 | 43

Tkat 5 8.8 N, thgtior=0.098Mpa

Non—load: Itis a theoretical rotational angle by z 3
guide rod and bearing’ s clearance in Maximum Rotation Angle

reverse movement

T:(N-m) Bore Maximum Rotation Angle( ")
Size NGAM NGQL
(#20,25 | +0.09° +0.06°
@32, 40 +0.08° +0.06°
@50, 63 +0.06° +0.05°

386




382-403-NGQ 2012.9.7 3:0 PM slo]1387 &1 o134} $ HHIED O

Series NGQ

ACP
Cautions
) ) o APM
Pletase dc? ';mé insert your hands or fingers between In using side port
plaie and body. _ - When you use side port by attaching plug on top port AS
~ Please be careful that your hands or fingers are not stuck hole, in the case of cylinder internal diameter of 912,16,
beitween cylinder body and plate in air pressure. please assemble it in order to keep 0.5~1mm with fop as
below figure. AX
#Narrowed air orifiice hole's diameter might cause cylinder
operation problems, AM2
AM
A
Al:X

B
%

You can attach it by four methods such as back attachment, side attachment, penetration top attachment, and penetration ﬁjM
bottom attachment.

[ m ABK
P T LH
i) — b - ACK1
| i n':,\" = = i o" - i bl -fﬁ:}
& I i o RS B 3 i i S B NSK

Table 1. T-5LOT Bolls

b

R

1

E ! Penetration Top Bore Size|Applied Bolt| Bore Size |Applied Bolt AG
Back Attachment ~ Side Atiachmertioption) ~ Attachment  Penetration bottom @20 M5 063 M10

= 5 J ” Attachment 925 NG = 5 NGO
B»f—‘- . R @32 M6 @100 M4

L
b

= w»

—L—

= v& g = 7 ) Mote) Used balt is based on hexagonal (rectangular] boit. éﬁx
. {
T-5LOT Attachment
WOLAbs NP
@ Caution in cylinder back attachment ADR
In cylinder back attachment, please process enirance hole in order guide rod's end not to interfere attachment surface
(bracket). But in back attachment, as for bolt depth, 1.5d is recommended (Refer to the Table 2, Back attachment area
size and boll size) AMR

@ In treating cylinder, please be careful of piston rod or guide rod s damage by impact or strange materials,
— Rod and cylinder damage may cause leakage and malfunction.

NDM
E Table 2. Back Attachment Part' s Size and Bolt Size
E Bore | A B G @ D (mm) Hexagonal wrench bot ARD
o Size | (mm) | (mm) | (mm) NGOM NGQAL | for attachment
oflll % @20 | 72 | 24 | 56 14 12 M5 X 0.8 NST
AN b g25 | 82 | 30 | 66 18 15 M5 X 0.8
1 @32 | o8 34 80 22 18 M8 X 1.25 AST
Hexagonal Bot for @40 | 106 | 40 87 22 18 M8 X 1.25
Hole Autachment @50 | 130 46 10 27 22 M10 X 1.5
. e @D @63 | 142 58 124 27 22 M10 X 1.5 ASTH
7 N Erirance Hole
VI3 O .
) @ e NLCD
PR A==k
A 02 NLCS
387

www.TPCpage.com
www. TPCpneumatics.com




‘332-403-7@0@ 2012.9.7 3:0 PM silo]1388 g4} $ HHIED O

Series NGQ

Structural Drawing/Part List, Packing List

® NGQM 20~25

Fr=s [ - .

* (7120 : More than 208T

* (@25 : More than 30ST x 320, 25 : More than 30ST
Part List
No. Part Name Material No, Part Name Material No. Part Name Material
1 ROD COVER Aluminum Alloy 11 RETAINER Carbon Steel 19 FELT Waol
2 HEAD COVER Aluminum Alloy 12 MAGNET NER 20 | PLATE ATTACHMENT BOLT| CarbonTool Sleel
3 CYLINDER TUBE | Aluminum Alloy 13 BUMPER-A Urethane 21 SNAP RING-A | CarbonTool Steel
4 PISTOMN Aluminum Alloy 14 BUMPER-B Urethane 22 SNAP RING-B CarbonTool Stesl
5 PORT PLUG CarboriTool Stesl 15 SPACER Aluminum Alloy 23 SLIDE BEARING Copper Aloy
6 | RETAINER WASHER | Stainless Steel {Nor-sfandard ST) 24 PISTON PACKING NBR
7 O-RING NBR 16 GUIDE ROD BOLT | CarbonTool Steel 25 ROD PACKING MNBR
8 GASKET MNBR 7 | cupE ROD NGOM | Carbon Sleel 26 SCRAPER NBR
9 PLATE Carbon Steel NGOL | Hpmorocmmintamss 27 BALL BEARING —
10 PISTON RCD Stainless Steel 18 HOLDER Carbon Steel 28 GUIDE SPACER | Aluminum Alloy
Packing List/Replacement Part
Parl Number
8 GASKET Cc-18 C-23
24 PISTON PACKING TPSA-20 TPSA-25
20 ROD PACKING DYR-10SK-K DYR-12
SEAL KIT NGQ20-5K NGO25-SK

388




382-403-NGQ 2012.9.7 3:0 PM sile]z]389 =94 Az q;

Series NGQ

Structural Drawing/Part List, Packing List ACP
APM
® NGQM 32~63
BRAPPODODDO B AS
g I o 1 :
?‘Q i =
BUBRN A N s Z/® AM2
@] \ —®
P NN L AM
ol ALX
®/ & 'E 1 ABQ
| A
O HED | 8
il . ‘é@ ADG2
® NGQL 32~63 ﬁjM
@ ABK
e ®
(772 )
L S il ACK1
?’ T S
Rh el NSK /L
S NGQ
= |Less than 255T *More than 50ST éﬁx
Part List NP
Mo, Part Mame Material No. Part Name Material No. Part Mame Material
i ROD COVER | Auminum Aloy _ 11 PBTON ROD Carbon Steel 20 FELT Wool ADR
2 HEAD COVER Aluminum Alloy 12 RETAIMNER Carbon Steel 21 | PLATE ATTACHMENT BOLT | CarbonTool Sleel
3 | CYLINDER TUBE _|Aumirum Aloy 13 MAGNET NER 2 C-RNG _ NBR AMR
4 PISTON Aluminum Alloy 14 BUMPER-A Urethane 23 ACEPHALIA BOLT | CarbonTool Steel
5 BUSH Copper Alloy 15 BUMPER-B Urethane 24 SNAP RING-A CarbonTool Stesl
({320 40 e Excluced) 16 SPACER Aluminum Alloy 25 SNAP RING-B CarbonTool Steel NDM
B PORT PLUG CarbonTool Sleel [Non-standard ST) 26 SLIDE BUSH Copper Alloy
i RETAINER WASHER | Carbon Slesl i GUIDE ROD BOLT | CarbonTaol Sleel 27 PISTON PACKING MNER
A |HEAD COVER GASKET NBR 18 | GUIDE ROD [ NGQM| Carbon Steel 28 ROD PACKING NBR ARD
9 GASKET NBR [ NGQL | thotorommtensd 30 BALL BEARING —
10 PLATE Carbon Steel 19 HOLDER Carbon Steel 31 GUIDE SPACER Alurminum Alloy
NST
Packing List/Replacement Part
N N Parl Number AST
0. Part Name 732 70 750 763
8 HEAD COVER GASKET TGOMO32-18-1586 | TGOMO40-18-1587 TGOMO50-18-1588 | TGQOMO63-18-1589 ASTH
9 GASKET c-729 C-36 C-46 C-60
27 PISTON PACKING TPSA-32 TPSA-40 TP5A-50 TPSA-B3
28 ROD PACKING _DYRI6 _PDU-T6Z _PDU-207. _PDU-207 NLCD
SEAL KIT NGQ32-SK NGQRAD-SK NGUE0-5K NGLE3-SK
# As for Seal KIT, B, 9, 27, and 28 replacement pans are comprised in one type. NLCS
389

www. TPCpage.com
www. TPCpneumatics.com



NGQ Air cushion Series

Drawing/NGQM @20 Air cushion Type

Pkl L1 i 4-M5X
[ i
ﬁ = = : :I— m
- R
e 62+STROKE 22 .
10] 17 L
CiliEE 1 e 246 10.3 PeLo1=s
|
f g - | .
D C A - s @
i
°F: o TORT 4
o
7 it > N0
Liel \—278
36
e R aoTret -
Nk T -
5l
] ™
by
g
/‘ %:I
=
\m = A
1 A
L 3
&
DETAIL "A"
ESJH_J_: :j
NGQM Dimensions(@20)

STROKE 25 50 75 100 125 150 175 200 250
L1 44 44 44 120 120 120 120 200 200
L2 0 0 215 215 21.5 21.5 215 21.5 22
L3 39 39 39 ri T 77 77 17 17




NGQ Air cushion Series

Drawing/NGQL @20 Al cushion Type

P Y L1 4-M5X0 8 0P 8
[ | / |
[l Fﬁ_____ — g{
}
106 £2+STROKE 12

it}

81

| f,.o..ﬁ -l
[
2
&
<
.. _-.I.-.
9 ﬁ
()
r
|28 o]
S, S
b3
{3
O n
a4
72

g _eaHeiDRs D 7] .0

A & J_L‘-iﬁ_ e 18
P

4- @52 THRU
el

B 2-PLUGHA] 2y
@ o
By

2- @10

| pang a=

— 1
45
5

N
N

&

™ 54

84

DETAIL "A" "

GBS TE a2
271 2%)
NGQL Dimensions(@20)

STROKE 25 50 75 100 125 150 175 200 250
L1 44 44 44 120 120 120 120 200 200
L2 _n [ ® | 18 % | % | 38 36 RELCT N1
L3 39 38 39 77 T 7 7 17 17

401

www. TPCpage.co.kr



NGQ Air cushion Series

Drawing/NGQM @25 Air cushion Type

L1

A-MEx1 0 THRU 0.6 62 54 STROKE
17 L1
26 R 10
-
e -
— @)
: 3 1hne® =
L |
@4HD DR @ 2-RelPT/E DF 5 Ll 4§52 THRU
4-CBORE 395 DRSS
2-RefPT)/8 P
"1‘—51“‘ Ty _’]‘&j—"‘
6 ® —
13
25 /_MLG*_’DF'_E_
S r— TlT —
L Fi
— =
s i ——— {2
= 3 5
i —
& Y .
() NRE
N/
[ é_é ] &
AaHD 2 3 B4
6 T2 x4
DETAIL "A” (270
[374=)
NGQM Dimensions(@#25)

STROKE 25 50 75 100 125 150 175 200 250
L1 44 44 44 120 120 120 120 200 200
L2 0 0 21 21 21 21 31 kil 46.5
L3 39 39 39 77 7 77 77 17 17

402



NGQ Air cushion Series

Drawing/NGQL @25 Air cushion Type

17, L1 .
| |
= ]
= = |
62,5+STROKE 212
i i L1
1q 10.5
ERITS
@)
ol ——=1
il |
[ [ s d
4-23.2 THRY
1. 2-Re(PT)1/BOPS k
—']—T’ (2-PLUG &%) “Im"—
H‘E ——
| |
L3 b
2.5 by
! N
= .
= : = —F
O - o | ]
#_1 : = - = =
> > 3
=S o po \\ - __I_
- Y

g
o
i
L=
[. X ) A ) ﬂm
= == 9 i
M i
=] 4Hg e 5.4 2
.4
DETALL "A" & =T
[EEIES) i
NGQL Dimensions(@25)

STROKE 25 50 75 100 125 150 175 200 250
L1 44 44 44 120 120 120 120 200 200
L 12 22 22 | % | = | & | 44 | N 62
L3 39 39 38 77 77 77 T 17 17

403
www. TPCpage.co.kr




NGQ Air cushion Series

21 Lt 4| 1
I il
_j
- : - . |
I I oY e
4-MBX1.25 THRU 12,10 62 5+5TROKE -L2
44 2 L1
a0 Fatue | 12z 5 5| & 34 4-MEK1 25 DF 16
_ \ N & x
— 3 {% i+ 8 ¥
i
Y —1 o
g _
125 4- B8 THRU
\M P e Lgi._ \ﬂi
T T
| | © @‘\ ﬁ
L . 1B 0P &
(2-PLUG &)
L3
2 BaHI DR &
= —eee _I ——
O L& 2
J = ¢
R=1
m o
: =
Y 4-MBX125 DP 16
i
%
E=
VA
i )
DETAIL "A"
REES
NGQM pimensions(@32)

STROKE 25 50 75 100 125 150 175 200 250
L1 45 48 48 124 124 124 124 200 200
L2 0 16.5 21.5 21.5 26.5 26.5 46.5 46.5 46.5
L3 45 45 45 83 83 83 83 121 121




NGQ Air cushion Series

Drawing/NGQL @32 Air cushion Type

" 4-| 1.25 0012
e _é Eé' |

2el2

2 1210 62.5+STROKE -
44 21 L1
122
THgE =
5‘: /i*ﬁ_m_ g

[ 2

4-MEX1.25 0P 1

23.9

119
26
4200
-

+

T

1

7]

i
4z
80

42 200z,

T
28
113

s _;\‘ — = 0

2495 DP &

36.5

4H94"DP &

(-2-F‘LIJG )

L3
- 0 &
QAHTT™DP & 2
[ 1 |
11 1 — | — d —_I-
3 o
o L7
58 17 ———— :
— .
e /r’ - \ - - }
L i
/ \_4MaX1.25 P 16
~Au .
g
: |
L == - i \ “
s _A_./ 8.5
s 1
DETAIL "A” £ L 5 i
ESJH_I_: ~ '
NGQL Dimensions(@32)

STROKE 25 50 75 100 125 150 175 200 250
L 48 3 48 124 124 124 124 200 200
L2 165 218 a5 | 45 45 | 665 665 665 | 665
13 45 45 45 83 83 83 83 121 121

405

www. TPCpage.co.kr



NGQ Air cushion Series

Drawing/NGQM @40 Air cushion Type |

L1 4-MBEX1 75 DP 12

22
- ==
I

B9+ 5TAOKE 2|

A-MEX1 25 THRU

&

12
L =
11 /
)
e

|

118
1
50 som

g i = = > &) = .
g ’ =
P 4- @68 THRL i
s f;ﬂmmm/,nl.... SRR s 15 |2z | \gL

owwrops /|

2R 1/8 0P &

2-PLUG &)
Ba
3 @#4HT DR &
4
CE
al A | |ic s g 8
| g
3
- - — ]
Fi \‘ |
- _J s zsorie
2 ['e)
N dF O . \ q 2
A ‘ |
:;9‘; «4,4 85
3] 1
. e 1234
(o) A=
NGQM pimensions(@40)

STROKE 25 50 75 100 125 150 175 200 250
L1 48 48 48 124 124 124 124 200 200
2 0 10 15 15 20 20 40 40 40
L3 46 46 46 B84 84 84 84 122 122

406



NGQ Air cushion Series

Drawing/NGQL @40 Air cushion Type

22 Li 4-MBX1.25D0P 12
'] L)
4-M8%1.25 THEY 12,14 E9H+S5TROKE 2-L2
44 22
30 e = 14
p
o ;
29 1 A=)
Yy
HIET0P 6 PT)1/8DP
|| Z-RelPTI/BDP &
(2-PLUG &)
84
i J
- L 3
- / o4
§ S— —1
g & g
=2 I————————————
ol 8l ﬁ E
3
- Fi X
g z i — |
L L Y
— \_smiaxt.as e 16
= A
oyhie=s BURSEL
DETAIL "A" TE Az
_(B‘T"}_; = A
NGQL pimensions(@40)

STROKE 25 50 it 100 125 150 175 200 250
L 48 48 48 124 124 124 124 200 200
L2 10 15 15 35 35 80 60 60 60
L3 46 46 46 84 84 84 84 122 122

407
www. TPCpage.co.kr




NGQ Air cushion Series

Drawing/NGQM @50 Aircushion Type

4-M10X1 5 THRLY

i

B0

146

2-AciPT}1/4 DP 10

1

o ] _}
* @ ©
S — g
° @ S
He——F—11
= . _}’ \_4-M10X1 5 D 20
e

BEHT 2
]
5
13

pn 15 &+
e B

NGQM pimensions( @50)

STROKE 25 50 75 100 125 150 175 200 250
L1 48 48 48 124 124 124 124 200 200
L2 0 15 25 25 30 30 50 50 50
L3 48 48 48 86 86 86 86 124 124

408



NGQ Air cushion Series

Drawing/NGQL @50 Air cushion Type

4-M10X1.5DP 12
o e A

I_ g
T - ] ot 154 x3 ~+|
4-M10%1.5 THRU 16,12 63+STROKE 2:L2
60 24 L1
0 13.3

10.3
ELTEY
| Vamnlll it PR

| [F—

%

A-lf+ - -+ - ;o‘_
S I
|| - ; —
I—
| o
2-Re(PT}/4DP 10, 14.5 1 n’sl Na1s
ik 4- @86 THRL i
LE. 4-C'BORE @14 DP 12 SRR DD =
._-1
é\ ——]
3 " 2-Re(PT)1/4 DP 10
3 (2-PLUG 7)) of
b5
o
]
1
- J N\_a-Mi0x1.5.00 20
4-M10X1.5 D8 20
i)

| .
85
gt Pt
" o
ERIES b E
NGQL pimensions(@50)
STROKE 25 50 75 100 125 150 175 200 250
L1 48 48 48 124 124 124 124 200 200
12 @ [ @& | 2 | 45 | 4 | 7 | ® | 70 | 7
L3 45 48 48 86 86 86 86 124 124

409

www. TPCpage.co.kr



410

NGQ Air cushion Series

Drawing/NGQM @63 Air cushion Type

24 L |
1] © ©
o
| o
LI £ o
4-M10x1.5 DP 18
4-M10x1.,5 THRU 70 1612 T4+STROKE 2-12
2 = Ky 56 4-M10x1.5 DP 20
10.7 8.7
~
[l | w
5@ o)™ <
i *Q 9%
5 NGl
8 g 3| 1-—@) —- - 3| R
2T _— s
I 2
i _M
A [a) O
|@€9$l (7 i
@5HS DP & 165 |/ 185 @5HI DP &
2-Ac(PT)1/4DP 10/ 4-@8.6 THRU
4-C'BORE @14 DP 15
165 a5
gy —
° Q- o
AN H &
9-Re(PTI1/4 DP 10
= (2-FLUG £71)
a | L2 B5HO DP &
@ < o |
g
—— 2
2
a2 [-Y]
S8 | | _»r—=
7 L |
] -
‘A " 4-M10x1.5 DP 20
[=7]
o e
8
A 27, /%
{ | e ; ZRN7EE
ST T s : ]
5H9 4 11 =
B 178 ~
DETAIL "A" T2 A=
(3 =) (274 4)
NGQM Dimnsions{g63)

STROKE a5 50 T 100 125 150 175 200 250
L1 52 52 52 128 128 128 128 200 200
L2 0 10 20 20 25 25 45 45 45
L3 50 50 50 88 88 g8 g8 124 124




NGQ Air cushion Series

Drawing/NGQL @63 Aircushion Type

24 Li ,
I |
© ©
] —
] —
o &
4-M10x1.5 DP 18
4-M10x1.5 THRU 70 1612 T4+STROKE 9-12
3 et Ll 58 4-M10x1.5 DP 2¢
& 10.7 8.7 i
=l ~
g ] [t}
o @ ol ™ ¢ ;
| [f——t j
B TS 7 I
Z| % % ia—gm d W g§ 49 2]
e e é@‘ i siny = k o
@© o B
[ 8 -
[ e o
l|._$_ ‘$_ ] / N | i
@5HS P s:’ 6.5 |/ B O |- R |29 Sl
2-Rc(PT)1/4 DP 10/ 4-(@8.6 THRU 77.5
4-C'BORE @14 DP 15 ——t—
16.5 a5
: x
o Q— 5
] B I |
2-Rc(PT)1/4 DP 10
— (2-PLUG &)
a L2 @5H9 DP &
7l !:’ ——
oY 4 | ;
&
= I —— €x =
o~
o
o= ad
SHEIRIIES e
1 ¥ kY 1
] T ]
w/ 4-M10x1.5 DP 20
o
I
Ie]
- s
f'/ \\‘
i, ) S C o
A 4 1
5HY
DETAIL "A"
(320 &)
NGQL Dimensibris{ﬁGS}

STROKE 25 50 75 100 125 150 7S 200 250
L1 52 52 52 128 128 128 128 200 200
L2 15 20 20 40 40 65 65 65 65
L3 50 50 50 88 88 88 88 124 124

411

www. TPCpage.co.kr



s=MaED [

382-403-NGQ 2012.9.7 3:0 PM sile]z]394 594 Az q;

NGQ Air cushion Series

Auto Swich's Proper Atachment Position (Under Condition that Forward and Backward Full Stroke s Used)

L Paint

L+

L

LPointA—L'M
[ w4 |

) “_L Point

[Unit © mm) (Unit - mm)
Bore Size | A Point Position | B Point Position Swilch T L Point Position Refatk
@20 | 355+spocerlongth 265 WICH TYPE | (ngtection Oosition) ek
025 | ss-spacer ength 215 ter L Able to use all the NGQ
@32 354Spacer length 27.5 W3 =+ 6.5
240 A4+Spacer length 26 W4 135 Able 1o use internal diameter between
@50 44+Spacer length 26 W2P * 14 {232 and @100
263 44.5+Spacer length 29 * In attaching switch, please use it after matching cylinder's A point or B

point with the switch's L point,

{Cautions)

In attaching two auto switches, Min. stroke should be

operated more than 10 stroke. But in attaching W2P*
switch, it can be operated more than 15 stroke,

394




‘332-403-7@0@ 2012.9.7 3:0 PM silo]A1395 g4 212} $ HHIED O

NGQ Air cushion Series

In Vertical Attachment - NGQM / Slide Bearing ACP
e APM
# Using Condition
Pressure Applied P = 5 ~ 7 kgffar AS
Cylinder Speed V = 250mm/s (50 ~ 300 mm/s)
Eccentric Distance = § (mm) AX
Applied Weight = W (kgf)
Note 1) Used pressure of 5 ~ 7 katler' is recommended.
MNote 2) When cyiinder speed exceeds 30mm/s AM2
’ Table 3. Applied Load Ratio AM
(Selected Example) A
1. How to Attach : Vertical Attachment NGQL @20 Al:)(
2, Applied Bearing @ Ball Bearing B= == — ==
3. Max. Cylinder Speed: 20mm/s == = = - i -
4. Applied Load : 7kgf ?% E== ﬂBQ
5, Applied Stroke : 50 Stroke st e < i e
6, Eccentric Distance : 50mm %5 === = = =5 AB%
£ i . ADQ2
#Selection 2, = =z ——
1. Select ball bearing among vertical attached graphs., N===c====Srs — _% ﬁj
2. Select a graph to endure load more than 7kgf i : : = =] M
 NGQL @20 ~ @100 R =
3. Select a graph matched with 50 stroke and eccentric dislance e 0 0o 150 200 ABK
of 50mm and then, select device below the graph's line ! ic: Distance {mm}
— Select NGOL @20 and apply eccenfric distance of 50mm. Less han 2031 2 Belween 08T nd SUGT
4, Selected device is NGQL @20-50ST B e Ry oo ot v ST ACK1
T Betwpen 200ST and 300ST

NSK

NGQM @20
. : . NGQM @25 A

NP

—L—

il

/|

I
A
1z
I
Weaght (kgt)
-3
|
iy

Weight (kgf)
o

=
il
il

“o 50 100 150 I'zuu 50 100 150 200 ADR

ic Digtance {mm) Eceaniric Distanca (mm)

e T AMR
tween an tweEn 4 5 Between 2005T and 300ST

NDM

ARD

NST

AST

ASTH

NLCD

NLCS

395

www. TPCpage.com
www. TPCpneumatics.com




382-403-NGQ 2012.9.7 3:0 PM slo]x1396 @4 A EHINEDO

NGQ Air cushion Series

NGQM @32 NGQM @40
4 e r— = =
1 | 1 1 1
{ B —¥ a5 —
1 | | | 1 &
o, ! 1 1 ! 1 ~
u -
= =
20, - % .
e, a6 "
_ - T = o e . o e - = == =
= o ] =~
g 15 o i g A ~ -E."'“"'«.:w =
E - 7 i o
i, = o |}
“ 1 = +
o -
a 50 160 150 200 50 100 150 200
Eccentric Distance (mm) Eccentric Distance (mm)
(1) Less then 258T 2 Between 255T and 50T (i Less than 2557 @ Betwsen 2557 and 05T
3 Batween 50ST and 10057  Batween 10057 and 15057  Betwaen 50ST and 10057 @ Batween 100ST and 15057
& Batwaen 1505T and 20057 {5 Between 15057 and 2008T
NGQM @50
0 — i NGQM @63
=
- t
o=
50 S - - ~
W
= S .
2 W ‘.ﬁ\ ~ ~ = =%
E - E) e
@ Y i —F
- — 1 1
31— ]
A 23 E 30
0 iV p— a0 :
] e e
B — ———1
i 50 100 150 200 0
P
e R 50 100 150 200
1) Lags then 2557 2 Batween 55T and 50T Eocani pance im)
@ Batwean 505T and 100ST @ Batwean 10057 and 15057 T Loss than 2557 2 Hotween 2557 and 50ST
St crp i plena AN {3 Between S0ST and 1008T @ Betwsen 100ST and 15057
& Betwsen 15057 and 2008T

396




‘382—403-NGQ 2012.9.7 3:0 PM #l0]x1397 #5944 $

HMEED [

NGQ Air cushion Series

In Vertical Attachment — NGQL / Ball Bearing ACP
APM
NGQL @20 NGQL @25
9 = S B S T e S o O e T 14 - ——— r = == AS
¥ i e N — =~
[ ! 10
8 i = ﬂ,g _ = ~ ~ ! AX
g s EF‘ R :; .:? % = = ] = e=
R ———— e I ~ ===f=
g S g o |Aam2
2 4 ]
: of Ba = AM
% 50 100 150 200 o :
50 100 150 200 A
Ecoentric Distance (mm)} Eccentric Distance (mm) Atx
Less than 2057 (2 Betwean 2057 and S08T 1) Less fhan 205T (2 Belween 20T and 50ST
@ Betwaen 305T and 5057 @& Between 505T and 10087 | Betwean 3IST and 05T @ Belween 5057 and 10087 ABQ
Bebwaen 1005T and 15087 & Between 1505T and 2005T Betwean 100ST and 15057 # Between 150ST and 2005T
[l Between 200ST and 300ST Betwesn 200ST and 3005T A
280
ADQ2
NGQL @32 NGQL @40 ﬁj
an = (=} 40 t + M
’ — 5 S=SE==T ABK
e 20 S — = 25 = ‘\ =
E 15 w = = ?\Eg E 204—= = ‘\;. —— = ACK1
z NG - ~ P 2 B e N e —— ~i | —|
0 2] —
OE= = = NSK /L
a = B 5 Sh —
, — EE === ESSESSSE S —s
0 0 100 150 200 e el e i i AG k‘/

Ecoentric Distance [mm) Eccenfric Distance (mm)

T Less than 2587
(% Between S0ST and 1005T
& Betwsen 1505T and 2008T

2 Belwaan 2587 and 50ST
@ Between 10087 and 1508T
& Betwaan 2005T and 3005T

A Lass than 3557
@ Betwesn 508T and 10057
5 Belwean 1505T and 2005T

(& Batwser 2557 and 5057
@ Batween 100ST and 15057
# Batween 2005T and 300ST

&

NP

ADR

AMR

NDM

ARD

NST

AST

ASTH

NLCD

NLCS

397

www.TPCpage.com
www. TPCpneumatics.com




382-403-NGQ 2012.9.7 3:0 PM slo]x1398 @94 A4 $ EHINEDO
NGQ Air cushion Series
70 = _— S -
s o —r— — = 901 == ]
WESSSSSsssess pEss==s== =s5s
50 s = 0 : :
5 pe e e A" = "‘ ;‘““‘
g ~_ Bl 40 =
: ~— = 2 5 =
o= 0} == =
b llnl: i 2
o] 50 100 150 200 o 0 100 150 200

Eccentric Distance (mm)

Eccantric Distance {mm)

398

0 Less than 2557 2
13 Between 100ST and 1505T @ Between 1505T and 20087

Between 55T and 10ST, Between 2005T and 30057

(1) Less fhan 208T
3 Batwaen S0ST ard 00ST
15 Betwaan 1505T and 10087

% Between 255T and 505T, Betwean 2005T and 3005T
@ Batweaen 100ST and 15087




‘332-403-7@0@ 2012.9.7 3:0 PM silo]1390 g514 2la) 2} $ HHIED O

NGQ Air cushion Series

In Horizontal Attachm - NGQM / Slide Bearing ACP
APM
# Using Condition AS
Pressure Applied P =5 ~ 7 kgf/orf
Cylinder Speed V = 250mm/s (50 ~ 300 mm/s) AX
Eccentric Distance = { (mm)
Applied Weight = W (kgf)
Note 1) Used pressure of 5 ~ 7 kgflor is recommended. AM2
Note 2) When cylinder speed exceeds 30mm/s
Table 3. Applied Load Ratio AM
(Selected Example) Al:
1. How to Attach : Horizantal Attachment . NGOM @25 _ ALX
2. Applied Bearing : Ball Bearing 4 % ==
3. Max. Cylinder Speed : 250 mm/s 7 = = ABQ
4. Applied Load : 5 kgf 3 == Al
5. Applied Stroke : 75 Stroke S ==
6. Eccentric Distance : 100 mm g ° S R SEc=m=s QB%Z
8 & 3 - =
%#Selection : ot — =
1. Select Slide bearing among vertical attached graphs. = : i ﬁjM
2. Select a graph to endure load more than 5kgf ¢ - ==
— NGQM @20 ~ @100 1 ; = ABK
3. Select a graph matched with 75 siroke and ecceniric distance o 1 i
of 100mm and then, select device below the graph's line y 8, 166 '5°t ’ 200 250 200
— Select NGQM @25 @ and apply 75 stroke. SIS ACK1
s Beleclhn B IR G Sl e
NSK /L
NGQM @20 NGQM @25
; I - AG k‘/
= i 3 NGQ
= S I o e o o . — = - ; = A
3 NI e o
i e i B
5 £ = = NP
50 100 150 200 I2 0 aon 4 50 100 150 200 250 300 ADR
STROKE(mm) STROKE{mm)
{1} Eccentric Distance(l ) : 50mm (2 Eccentric Digtanca(l | : 100mm (1) Ecceniric Dislancell } : 50mm (& Eceentric Distancell ) : 100mm
(& Eccentric Distance(l ) © 150mm @ Eccentric Digtancall | @ 200mm & Eccenlrie Dislancall | ¢ 50mm @ Eccentric Distancell ) : 200mm ‘ AMR
NDM
ARD
NST
AST
ASTH
NLCD
NLCS
399

www.TPCpage.com
www. TPCpneumatics.com




382-403-NGQ 2012.9.7 3:0 PM slo] 21400 594154 ——
NGQ Air cushion Seri
NGQM @32 NGQM @40
14 - 14
v u-l
12 e 12
P =
IhY masee h& 10 0
= o = I =
g ® i = z ¥
!
a 4
2 2
L) 1] 50 100 150 200 250 300 E o 50 o0 150 200 250 00
STROKE(mm) STROKE(mm)
@ Eccentric Distanceld | © 50mm & Ecesnitic Distancedl ) & 100mm @) Eccentri: Distancell ) | 50mm @ Ecesnirie Distanceld | < 100mm
(@ Eccentric Distenceld | : 150mm & Eceantric Distancell ) : 200mm (@ Eccentric Distance(l ) | 150mm @ Eccenric Distancell | : 200mm
NGQM @50 NGQM @63
T T
| 8
20 o O iy Y Ll I N 2 I E
b 1 g BT !
| -
15 E S S : = 5 i S u
N 3 b 9 ~ ‘I?"'- = .
= - 5 = = = ~ g
E, N = SSamas e SSa=cSam=SSamecw
E oS 7 '1;-_ ] =1 == g ™ 2 = e =
g =1 3 =l
B 5
0 o :
50 100 150 200 250 300 50 100 150 200 250 300
STROKE(mm) STROKE(mm)
(@ Ecraniric Distanceld | @ S0mm & Eccantrle Distancedl | © 100mm @) Eccentric Distancell ) | S0mm @ Eccaniric Distanceld 1@ 100mm
(@ Ecgentric Distenceld | 150mm @ Eccantric Distancell ) © 200mm @ Eccentric Distancell ) | 150mm @ Eccentric Distanceld | 200mm

400




‘332-403-7@0@ 2012.9.7 3:0 PM silo]A401 g4 222} $ HHIED O

NGQ Air cushion Series

In Horizontal Attachment — NGQL / Ball Bearing ACP

NGQL @20 NGQL @25 AS
7 } s
EEEETEW - NSRS
1 R =
2 B = = AX
5 o S=E==n 7 i
= TN = s s ==
El ¢ 4 E: N ) - ~
£ EERRL g . = : AM2
5 S 4 SN & > >,
-g ~ = % S S ~
K\
2 2 — AM
1 1 — T =
= - o e e e |
o S 0 TR v S & e A
50 100 1640 200 ] 50 190 150 200 250 300 A X
STROKEImm) | ! STROKE(mm) |
(1) Eccentric Distanced] ) : 50mm @ Eccentric Distancald | : 100mm (0 Ecceniric Distancell | : 50mm @ Eccentric Distance(d ) 1 100mm ABQ
@ Ecceriric Distancell ) : 150mm @) Ecoeniric Disfanceld | © 200mm @ Ecceniric Distanceld | : 150mm @ Eccentric Distance(l ) - 200mm A
; NGQL @32 NGQL @40 ﬁjM
% T il - -
= . '1"? B i 2 “ :
24— 7 . 2 N i
T b N\ ] ] S ABK
10 -.If‘f" o o 10 = = S
S NN y S
= 3 L. N = = @ ™
E = SN FR ==z =5= DNNN s ACK1
= —— e = - = P
E 8 I/)'\ - . g & 1 -
g - @ ~
i
JEs = B == [Nk /L
2 o 1 = 2 1 T
|
g 5 1 AG
o] 50 100 150 200 250 300 o 50 o0 150 200 250 300
STROKE(mm) STROKE(mm)
. NGQ
{1 Eccentric Distancedl ) - 50mm 2 Ecceniric Distanceld | © 100mm I} Exceniric Distancel! | : S0mm @ Eccentric Distance(l ) : 100mm
@ Ecceriric Distancell ) © 150mm @ Ecoentric Distancedd | @ 200mm @ Ecceniric Distanceid | : 150mm @ Eccentric Distancell ) © 200mm

ADR

AMR

NDM

ARD

NST

AST

ASTH

NLCD

NLCS

401

www.TPCpage.com
www. TPCpneumatics.com




382-403-NGQ 2012.9.7 3:0 PM slo]z1402 $912 o134} $ EHMED
NGQ Air cushion Series
NGQL @50 NGQL @63
T 1 20 I
20 i T I N
T : T I
b L : Al Fl I 1
A i IS o N e ALY
e 1 N ] M N B | = o
13 = < =l ] B =
SIS = - \\ T el ] B \\
< -:_ ] el ™, \\}\\ < b o NG
2 10 : = RIS s w0 ] H S
§ & N P ONG ASNNE
. q-- '\-..“'\-_E:: g . :: g "-....::
2 50 100 150 200 250 3ano UO 50 100 150 200 250 300
STROKE(mm] STROKE{mm)

01 Eccentric Distancell ) - S0mm
@ Eccentric Distance(l )  150mm

2 Ecgentric Distancald ) 1 100mm
@ Eecentric Distancell |1 200mm

(T Eccentric Distancedd | : SGmm
& Eccentric Distanceld | : 150mm

12 Eccentric Distance(l ) ¢ 100mm
@ Eccentric Distance(l ) : 200mm

Applied Load Ratio

Table 3. Applied Load Ratio When Cylinder Speed is Faster Than 300mm/s
Applied Load Ratio

Bore Size Vertical Attachment Horizontal Attachment
NGQM NGQL NGQM NGQL
@20 Lower than 20% | Lower than 25% | Lower than 25% | Lower than 50%
@25 Lower than 25% | Lower than 25% | Lower than 30% | Lower than 60%
@32 Lower than 20% | Lower than 25% | Lower than 30% | Lower than 50%
@40 Lower than 25% | Lower than 30% | Lower than 60% | Lower than 80%
@50 Lower than 30% | Lower than 30% = B
@63 | Lower than 35% | Lower than 35% - -

#Recommend that the previcus table's selected load is applied to the above table's ratio.

402




‘332-403-7@0@ 2012.9.7 3:0 PM silo]A403 g=914 22} $ HHIED O

NGQ Air cushion Series

Load Range When it is Used for Stopper ACP

Bore Size @12~@25 / NGQM12~25(Slide Bearing) APM
AS
NGOM @12 ~ @25
20T g i E
f = \ f %._. AX
" \ SOl X X
- \ AM2
25
g A :6?0 \“-‘\\ AM
§ EUR I Y \‘\ Ly i
B OEe R A
g @ =~ Al:X
e - # When L size is longer, please select right equipment having encugh tube internal diameter,
i : = = Note 1) When it is used as stopper, please select 30 stroke and lower, QBQ
oy o » P Note 2) NGQAL (ball bearing) can be used as stopper.
Carrier Spead (m/s) Al
AB%Z
Bore Size @32~@100 / NGQM32~100(Slide Bearing) Alu
ABK
NGOM 232 ~ 2100
e ? ACK1

=
feginn
=

1 =50mm

£ Elmm

NSK

: % When L size is longer, please select right equipment having encugh tube internal diameter. G
@ a0 a0 s Note 1) When it is used as stopper, please select 50 stroke and lower,
it e (e} Note 2) NGQL (ball bearing) can be used as stopper. NP

T
o it
2

:
5

e
it

S HH

Carried Malerials mass (kgt)
g
o e HH

.9
2
e
He His
b Ps

o
s
IV 4
8
fi
/
=

ADR

AMR

NDM

ARD

NST

AST

ASTH

NLCD

NLCS

403

www. TPCpage.com
www. TPCpneumatics.com




